magﬁazm/ QUESTION BOOKLET

gﬁaamﬁq&haﬁm/

gﬁaaﬂﬁusshaﬁm/

Number of Questions in Booklet :

1. U9 U3 I gt el 3 Vel HUT 30l Heet R 312 3031, R-U5 B oitd
$? 3R Fefdad & i :

19a G 3R 311.0A.3R. SR-U5 I ol A FAE |

Ya Yficree! o Aol %G 0leb A e & A Aol Tel WX AR Yedt fed 61
foaft oft frfortr/eT & amerer , 319%1eft 1 e GReTaT 3 31 0.3, -1
el & (o7 et SO ol ATeTet ot el el AR | Ttem UIRedt &t & Uil foere
T 59 Faler & fepett oft ara/3mufer e e o femar oo | garcs forw arazreff et
gl

2. 30A3R. F-we & Ui u v Faf e v |

3. 3N.0A.3. TR-TAG W &4 et Al WIge Uel 1 N e | U, 3. UA.3. JeR-
Tl & 30T et A A 3 SAeTeere T &on & oY |

4, M yeE & 3ie T &| Y&S Ieid IeR S fofU G &l 1/3 3iep e oiat |
5. e ot vea o fo1u U 3 3ires 3o ATt b o S it 3 oft o1 3 Afen oo |

6. Y 5o & U Reu/oml €1 vget ar faeu/anet A, B, C 3z D 3wgw i &
Fafera € 31 Taa faasea/aier ‘E’ ‘e ves’ 3 Aaa |

7. T8 T cte & forw ararell i 31 .31, Fe-Use W Fattid Uoel A b et IR
feeeu A, B, C a1 D & el Us faceu/aiiel @ aliet et @rge el 3 12ell 8 | 3fe
aprelt femelt U9a T 3T ) Sl wieal & it U feebeu/onet ‘E” & gl et a |

8. ol urafocenl & 3 s oft Ricseu/ofen e i R orarm Y et &bt 1/3 4ot ek e
foram SR |

9. 10 ufawd 3 3 veali & bt oft frepcu/ones bl srarelt gy orewr a7l fean R al 33
Tten & forw st aiftvd e fea s |

10. 3reell 1 Y Yot o foT 6 A b U Focbea /ol o1 8 21 el g effvad et
e 10 foere sfefva e oo |

. A 5oa o et am 313t Heon & g a1 TR Tpiel b fehait ol eI 1 ardee/
TeTdl 2, ot 3ol e 1 3iferet A S|

12. T & & Aarse e/ fearsa an fost ae geragfords drorc a1 U A dforct
13 forelt arareft & urer Ut g wierafire el wr o it s fereg feremaaR
IF&d BRATS B S|

el : A 1 3l bt Bed GO T Wl & A e aeidb STUadl gu Urel SiTll & 21
32 U BT SFeAeiceel A U el & alf 32906 el Yferdl Tt & 00, 3. 3R, &t bt
TR 3 a5 2o Aduierds Utlan aiftfera, 2022 3R Heiea aiftferar 2023, (oreff
G el Dt ABTH B SHEURA) S & PG el S 170 Jreareht arom foreret 10
A 3yTotiad SRIGRT o T 10 BIS ac T UIael & 132 1S a1 afaear oot Faft wdvemmant 3 el
F0 3 ferafofar of foam ot Faper &1

A UdNaT gﬁ?ﬁﬁl Y 9 G o ATl oidl b el 1 ST | DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO.

P.T.O.

% 56HH

S56HH

o
| S WRle YRidebl & dd eb & Silet widl dleb gl o oMU |

315a QT INSTRUCTIONS

1

Question Booklet Number
U9e GRA®BT HAID

1. Before attempting the question paper, kindly
check your Question Booklet (QB) and
O.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)

and O.M.R. Answer Sheet is same.

- Allpages and all questions are properly
printed.

In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.

Read all instructions on the reverse of O.M.R. Answer Sheet.

3. OnO.M.R. Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

4. Allquestions carry equal marks. For each wrong answer 1/3 mark of the
question will be deducted.

5. Ifmore than one response is marked for aquestion, it would also be treated
as wrong answer.

6. Each question has five options/circles. Firstfour options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.

7. Toindicate the correct answer, the candidate has to fill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. Ifacandidate leaves more than 10 percent questions or does notdarken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she hasfilled
up any one option/circle for each questions.

1. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated as final.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadgetin the
examination hallis strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.|.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to¥ 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.

o ——

N



TE ST | STt THATE 57 7% T Hiied 7 |
A 2 :

(A) FeAREECS (B)
€ w@riiEsdE™ (D) o= WA S

(B)  3rqaRa e

T TS o “HETHT-T-ALI” Bl TATIAT SF o,
TSR 31TST TSR THe 31 3N & AT AT AT
g?

(A)  HERTST HaTg W e 1

SECRICIS]

(B)  waTg AT RAE 1
© g e
(D)  |aTE ya 4
(B)  3raRd e

A 30 T& # et 1 7 Up-fereTs Wit FH T
I HTH B = 40 T 7 7 Fopa | Tt o fetey 1 &8

AT 39 TR BT Bl Tha (G | BT Tb ?
(4) 20 (B) 36

Q) 28 p) 171
© (D) -
(B) STIaRa ued

T Y TTermT TT &7 TS 994 & {0 rasas
EREEEIER

(A) 259w (B) 28°W

© 39 (D) 1899

(B)  Irgaia usd

MS PowerPoint # TATEE oM T 3MXH H I[E A &
ToTT -3 STTETHe Holt TR H ATE AT & 2

(A) F3 (B) F5

(C) F7 (D) F1

(E)  raRa ueA
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The Rajasthani Saint whose writings are also
included in the Shri Guru Granth Sahib is :

(A) Devnarayan Ji (B) Dadu Dayal Ji
(©) SwamiSwarupdas (D) Dhanna Bhagat Ji

(E)  Question not attempted

Which ruler established the “Madarsa-E-Hunari”,
which is presently known as the Rajasthan School of
Art?

(A) Maharaja Sawai Ram Singh II
(B)  Sawai Madho Singh I

(C) Sawai Jai Singh

(D)  Sawai Pratap Singh

(E)  Question not attempted

A has done one-third of a work in 30 days.
B completes rest of the work in 40 days. If they work
together, then in how many days can they do the
whole work ?

(A) 20§ (B) 36

1
(C) 28 (©) 17

(E)  Question not attempted

The minimum age requirement for becoming a
member of the State Legislative Assembly is :

(A) 25years (B) 28years
(C©) 32years (D) 18 years
(E)  Question not attempted

The shortcut key to start a slide show from the
beginning in Microsoft PowerPoint is :

(A) F3 (B) F>5
<© F7 (D) F1
(E)  Question not attempted
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10. WA & A{Ie= & i@ F=fdarad § 9 S 31
e IRFR AR T ?
(A)  InwoT % faeg SR
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(B)  3raRd 99
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10.

How many players have been awarded Arjuna
Awards for Outstanding Performance in Sports and
Games 2024 ?

A) 12 (B) 22
© 32 (D) 17
(E)  Question not attempted

Out of the following, which Rajasthani folk genre of
music that specifically focuses on the emotions and
experiences of Rajasthani women related to fetching

water ?
(A) Maand (B) Khayal
(©) Qawwali (D) Panihari

(E)  Question not attempted

Which amendment added the words ““Socialist”
and “Secular” to the Preamble of the Indian
Constitution ?

(A)  g4th (B)

(©) 7ard (D)

4ond

24th

(E)  Question not attempted

In which of the following place was Swami
Keshwanand, (a Educationist and Saint), born in

Rajasthan ?
(A) Deomali (B) Neemrana
(C) Magloona (D) Mandawa

(E)  Question not attempted

Which of the following is not a Fundamental Right
under the Constitution of India ?

(A) Right against Exploitation

(B) Right to Constitutional Remedies
(©) Right to Vote

(D)  Cultural and Educational Rights

(E)  Question not attempted

P.T.O.
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(A) 8750 (B) 9,500
(€ 16,250 (D) ¥ 14,250
(B) rIaRa wed
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11.

12.

13.

14.

15.

is generally used as a rear-view mirror
in vehicles, to see the traffic behind them.

(A) Convex mirror (B) Plane mirror
(C) Plano-concave (D) Concave mirror
mirror

(E)  Question not attempted

Which of the following places come under the
Hadoti Plateau region of Rajasthan ?

Choose the most appropriate answer from the
options provided below :

A) Nagaur, Churu, Sikar
B)  Tonk, Ajmer, Bharatpur

(
(
(C) Barmer, Jalore, Sirohi
(D) Bundi, Kota, Karauli
(

E)  Question not attempted

According to the Rajasthan State Budget
2025-26, a bonus amount of I will be
provided to farmers for every quintal of wheat sold
at MSP (Minimum Support Price).

(A) 125 (B) 150
(© 200 (D) 175
(E)  Question not attempted

Which of the following is not a hardware device ?

CPU
LCD Monitor

(A) Operating System (B)
(© UPS (D)
(E)  Question not attempted

A person lent I 25,000 on simple interest in two
parts, one at 8% p.a. and the other at 10% p.a., if the
effective rate of interest comes out to be
8.7% p.a., then what is the amount lent at 10% ?

(A) 8750 (B)
(©) 16,250 (D)
(E)  Question not attempted

< 9,500
3 14,250
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16.

17.

18.

19.

20.

21.

In Rajasthan, the Tropic of Cancer passes through
the southern tip of the state near which of the
following places ?

(A)  Jaipur (B)

(C) Banswara (D)

Rajsamand
Bundi

(E)  Question not attempted

Which part of the human body is responsible for the
manufacture of Red Blood Cells ?

(A) Bone marrow (B) Heart

(©) Lungs (D) Brain

(E)  Question not attempted

In which region is the ‘Matsya Festival’ held in
Rajasthan ?

(A) Bundi (B)
(©)  Ajmer (D)

Alwar
Bikaner

(E)  Question not attempted

Name the genre of Rajasthani prose/poetry in
which the texts are written in “Velio” verses :

(A)  Jhoolna (B)
(C) Vigat (D)

Veli
Vachnika
(E)  Question not attempted

In Rajasthan, the “Van Vihar Sanctuary” is located
in which of the following regions ?

Choose the most appropriate answer from the
options provided below :

(A) Chittorgarh (B)
(©) Udaipur (D)

Dholpur
Baran

(E)  Question not attempted

Under the Panch Gaurav Scheme, which product
has been selected for the Sriganganagar district by
the government of Rajasthan ?

(A) Kota stone (B) Mustard oil
products

(©)  Embroidered (D) Wheat flour
textiles

(E)  Question not attempted

P.T.O.
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22,

23.

24.

25.

In which UNESCO list were the manuscripts of the
Bhagavad Gita and the Natyashastra recently
included ?

(A) Intangible Cultural Heritage
(B) Memory of the World Register
(C)  Global Education Report

(D) World Heritage Sites

(E)  Question not attempted

The Rajasthani poetry collection “Mugtee”, which
won the Sahitya Akademi Award in 2021, was
authored by :

(A) Kanhaiyalal Sethia
(B) Mangat Badal
(C)  Sonali Suthar
(D)  Meethesh Nirmohi

(E)  Question not attempted

Which of the following tree species is commonly
found in Rajasthan, but is not native to the state ?

(A) Dhau

(B) Raunjh/Safed Kikar
(©) Kumatiya

(D) Vilayati Kikar

(E)  Question not attempted

Sunil bought an item and sold it with 10% profit to
Ankit. Ankit sold it with 5% profit to Chetan. If
Chetan paid ¥ 1,386 for the item, then for how much
Sunil bought the item ?

(A) 1,200 (B)
() T1,240 (D)

31,225
31,150

(E)  Question not attempted
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26.

27.

28.

29.

30.

The ‘phetia’ style of hand-block printing is
associated with which of the following regions of
Rajasthan ?

Choose the most appropriate answer from the

options provided below :
(A) Sanganer (B) Kota
(C) Barmer (D) Akola

(E)  Question not attempted

If (x—y): (x+y)=3:5, then find
@2 +y2) : (4x2—y?):

(A) 11:21 (B)
(© 13:63 (D)
(E)  Question not attempted

33:61
1:1

According to the 2011 Census, which of the
following districts of Rajasthan had a population of
less than 10 lakh ?

A)  Only Jaisalmer
B)  Only Pratapgarh

(
(
(C) Jaisalmer, Pratapgarh
(D)  Sirohi, Bundi

(

E)  Question not attempted

Which of the following statements is not correct
regarding the peak of Gurushikhar ?

(A) Itis higher than the highest peak of Satpura
range.

(B) Itlies in the Sirohi region.

(C) The height of Gurushikhar is 2722 metres
from the mean sea level.

(D) Itis the highest peak of the Aravalli range.

(E)  Question not attempted

Which of the following states of India hosted the

Khelo India Youth Games 2025 ?
(A) Bihar (B) Madhya Pradesh
(C) Rajasthan (D) Punjab

(E)  Question not attempted

P.T.O.
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TR {qerm= @7 (2025 I F IAR) § FA
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31.

32.

33.

34.

35.

What is the total number of seats in the Rajasthan
Legislative Assembly (as of June 2025) ?

(A) 200 (B) 180
Q) 195 (D) 250

(E)  Question not attempted

Which of the following forms of Rajasthani folk
drama performed by the Bhil tribe depicts the
stories of Lord Shiva and Goddess Parvati ?

(A) Swaang (B) Rammat

(©) Gavri (D) Tamasha

(E)  Question not attempted

Which of the
Constitution guarantees the Right to Constitutional

following article of Indian

Remedies ?
(A)  Article - 32 (B) Article-19
(C) Article-51 A (D) Article - 14

(E)  Question not attempted

Who among the following has been the longest
serving Chief Minister of Rajasthan (as of 2025) ?

(A) Bhairon Singh Shekhawat
(B)  Heera Lal Shastri

(©) Mohan Lal Sukhadia

(D)  Ashok Gehlot

(E)  Question not attempted

The first metro line of Rajasthan state, which began
operating in Jaipur in 2015, is named as :

(A) Blueline (B) Redline

(C©) Orange line (D) Pink line

(E)  Question not attempted



36.  T(STRAT BT I8 TTAT ST ITBEATT & T T SISt
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Eﬁ:
(A)  SHHT
(B) e
©
(D) TR
(B) TIaRa wed
37. AT HI IMUHR ATITTIH-2005 F T&d B TR
< TT TN < TS BT T & 2
(A) 4 (B) 2
© 3 D) 5
(B) STIaRa ued
38. TS ! TRl WEHE AST R ?
(A) o AT (B)  ofAT A=Y
© e gt (D) TR ST
(B)  3raRd e
39. “TIeR WHT Fegw THaETg RIS’ T |/
TS IR T TE B
(A) B (B) et
©) A (D)  =BTeBeit
(B) TIaRa ued
40.  d9d TG W FIA-R oS qRIST BT AR
T | fafeigd § 3 6T TS TerEnT 1)
TRt T 2T ?
(A) NH-218 (B) NH-968
(C) NH-76 (D) NH-57
(B) rIaRa wed
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36.

37.

38.

39.

40.

Which of the following districts of Rajasthan shares
the shortest International border with Pakistan ?

Choose the most appropriate answer from the
options provided below :

(A) Jaisalmer
(B)  Barmer

(C) Bikaner

(D) Ganganagar

(E)  Question not attempted

The Right to Information Act-2005, mandates the
constitution of how many types of Information
Commission ?

(A) 4 B) 2
© 3 D) 5

(E)  Question not attempted

The Jawai River is a tributary of :

(A) Banasriver (B) Luniriver

(C) Chambal river (D) Gambhir river

(E)  Question not attempted

The “Sardar Samand Medium Irrigation Project” is

built on the river in Rajasthan.

(A)  Sukri (B) Parbati

(©) Jakham (D) Kakni

(E)  Question not attempted

The cable stayed Bridge Project over the Chambal
River was constructed on which of the following
National Highways in Rajasthan ?

(A) NH-218 (B) NH-968

(C) NH-76 (D) NH-57

(E)  Question not attempted

P.T.O.



41.

42,

43.

44.

45.

T[STRAT H 31T WebTR BT TH “HTTeAehT AT Thel”
TR U T haT ST ?

(A)  SEPR (B)  STAR

© foditee (D) SR

(B)  3rgaRd e

ti%?‘f\ﬂdlé‘{(dl(ﬁ Ao SN W%WWW
I5TeA & fopaT = aT ?

(A) 209, 1949 (B) 22 3T, 1948
(©) 18 37¥eT, 1948 (D) 1773, 1949
(B) 31 aRd e

270 TFAY FT T SR T TT FIA H, TH B 39T
2 He HH o & | TS I B, B BT B 60%

&, @ B Bt 0 (REAY/HeT#) 3 -
(A) 85 (B) 75
© 9 (D) 80
(B) TIaRa ued

WRA HI FTOET (2011) F AR, TAT &
frfaRad foat # o foras AtgaT TmgRar ¥ g
FH AT ?

(A)  FTATE (B) ST
©) @R D) T
(B) STIaRa ued

HIO ATAT BT ST AT F Bollal & Hbe
frteTia & o o Tta & gam o ?

(A)  TTRYR (B) ™
©) HHER (D) qa™
(B)  3raRd 99

% 56HH 10

41.

42,

43.

44,

45.

Where is the first of its kind “Balika Sainik School” is
to be established in Rajasthan ?

(A) Jaipur (B) Udaipur

(C)  Chittorgarh (D) Bikaner

(E)  Question not attempted

When was the United State of Rajasthan
inaugurated by Pt. Jawaharlal Nehru ?

(A) 20March,1949  (B) 22 April, 1948

(C) 18 April, 1948 (D) 17 May, 1949

(E)  Question not attempted

To cover a distance of 270 km by car, it takes
2 hours less than that by bus. If the speed of the bus
is 60% of that of the car, then the speed of the car
(inkm/h)is:

(A) 85 (B) 75
() 90 (D) 80

(E)  Question not attempted

According to the Census of India (2011), which of
the following districts of Rajasthan had the lowest
female literacy rate ?

(A) Hanumangarh (B) Jaisalmer

(©) Jalore (D) Churu

(E)  Question not attempted

In which of the following village was Karni Mata
born near Phalodi in Rajasthan ?

(A) Ranakpur (B) Ringas

(©)  Khimsar (D) Suwap

(E)  Question not attempted



46. ToeTrEd gt ® A fAoaras 9dqam @
ISTETHIAATE ?
(A)  TEATETIRI |
(B) I E R, WA 33 |
(C) ¥ Tad AT |
(D) T 3TS AT & T& HHY 3 T&H I FhaTT |
(B) 3raRd wed
47. e’ S HITEIE
A) ™ (B) Tz
© fred D) Tz
(B) 31 aRd e
48. famferiad % & “ofter’ oTeg HT UL OaT= 95 8 :
(A)  TE= (B) e
©) Haqa (D) wRa
(B) I aRa ueA
49. Ty=fiad @l § 9 S WEdarES ST B
ISR 7?2
(A)  THEARTATY f&at Tiied Bt A 0
|
(B) RarSHadToH aw |
(C) FHATEA HT AT E |
(D) QTIT ST I BT TaATE |
E) 3 and wed
50. THETCTREd & A T IE R
(@) T
(b) THAH
(© BT
(d
() IS
T fag Ty fospedl # F Faw ST 3R BT 99
FIAT :
(A)  FHIA (a) 3T (d) (B) FHIAA (c) 3T (b)
(C) FHAA ()3 (e) (D) FHIAA (b) 3T (e)
(B)  Irgand e
2% 56HH
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51.

52.

53.

54.

55.

“TTHIOT 9TF H Y TATE

(A) 37 (B) g7

(© =t (D) o

(B)  Irgand e

Tt o ¥ Y& 3Te% BT T BT :

(A) ghe (B) g7

© w= (D) AR

(B)  3rgand e

fereforiiaa & & e Ao fohaT BT 3TERoT g ?
(A) =T (B) drgam

© & (D) T

(E)  SraRa usd

‘BASIS’ T3 FTE ? TEH YA (9 I |
(A) I (B)  em@m

©) Fera (D) 3MemR

(E)  argaid ued

TATeTEd & ¥ Y& 19 BT =F BT

(A)  H I HETHIATE |

(B) EAW Tl AaAH! B RTAT BT 7T T
2l

(©) 9 IS TE HTH JAE & ST |
(D) | 3799 & AT |
(B)  3rqaRd e

P.T.O.



56. fmiferiiga # @ Fi fagert g & R 2
(A)  STETerd (B) =g
© () am
(B) 31 aRd e
57. U 37 U of@H # A& gl ey
(A)  3rvEaT (B) fo=mi®t
g
(C) =BT AT (D) |t | Jelt
(B) IaRa ueA
58. famfafad # ¥ w9 aRwmEs et &t
JETETU ?
(A) e fepare (B)  fered-wr =
© =oiaRals (D) sgaEEH
(B) IraRa ueA
59. ‘B’ M HTRGHAE
(A) 3 (B)  wiTse
©  wrpla (D) smTpfas
(B) IraRa ueA
60. Tt # ¥ dgwa = S :
A) IS (B) 3=
(© 3mr (D) @1
(B) 3raRd e
2% 56HH
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61.

62.

63.

64.

65.

TR BTH QY W 3 G HI gEsT’ AU H
fere sfom o 7

(A)  wEETd (B)  feyeam

© wEl (D) 3rig

(B)  3rgand e

“qTp + STIeT” 1 HTT BRI :

(A) TSI (B)  areret

(©)  arRIe (D)  awstTe
(B) 31 aRd e

‘GO’ 9Te% T W - Teresg BT :

(A) g+ (B) g+ qmEA
© g+mEA (D) g+ AMA
(B) 3raRd 9=

frTeREd # ¥ 3T TR 2

(A)  TE=s (B) FaeHd
© ==X (D)  HiEET
(B)  3rgand e

“HTST TS ST HETaX FTHT L
(A) wer-wer = FE

(B)  wref Y foram-ut e

(C)  JITT T AT BT

(D)  gEEeiteET

(B)  3rgand e



66. Choose the option with the wrong use of
punctuation(s) :
(A) She said to me, “When I met him, he was
playing.”
(B)  Go back, Parth shouted.
(C©) If you stab him, he will die.
(D) Imethim in the auditorium.
(E)  Question not attempted
67. Complete the given sentence by choosing the
most appropriate answer from the options
provided :
It never occurred the traffic police to
ask the erring driver a proof
his identity.
(A) with, to,with  (B) by, from, by
(©) to, with, from (D) to, for, of
(E)  Question not attempted
68.  Choose the most appropriate Hindi translation
of the given sentence from the options
provided :
Will you do me a favour ?
(A) T 3T T I TEHT JATA ?
(B) T I A WG H4A ?
(C) a7 TR FUT T T &Nl ?
(D) 9T T O T&HH HI ?
(E)  Question not attempted
69. Choose the option that correctly identifies an
error in the given sentence :
“I am not on speaking terms with Anisha,” say
Sana.
(A) speakingterms (B) with Anisha
(C©) say Sana (D) Iamnoton
(E)  Question not attempted
3% 56HH
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70.

71.

72.

73.

Which of the
transformation of

following is the correct
the given Interrogative
Sentence into an Assertive Sentence ?

Was he not a villain to do such a deed ?

(A) He was a villain to do such a deed.

(B) He was not a villain to not do such a deed.
(©) He was a villain to not do such a deed.
(D) He was not a villain to do such a deed.
(E)  Question not attempted

Fill in the blanks in the given sentence by
choosing the correct words from the options
provided :

It is very that you are by the
advancement India has made in the last five
years in science and technology while you were

away from the country.
(A) odd, add (B) odd, awed

(©) add, owed (D) awed, odd

(E)  Question not attempted

Choose the most suitable article from the
options given below in order to complete the
given sentence :

He has equipped himself with MBA
degree.

(A) a (B) the

(©) any (D) an

(E)  Question not attempted

For the Assertive Sentence given below, choose
the most appropriate Exclamatory Sentence
from the options provided :

It is very sad that her mother is no more.
(A)  Oh! Mother is no more.

(B) Her mother was no more!

(©) Her mother has been no more!

(D)  Alas! Her mother is no more.

(E)  Question not attempted

P.T.O.



74.  Choose the most appropriate tense of the given
verb from the options provided in order to
complete the given sentence :

She this gymnasium for the last two
years and has no plans of partnership.

(A) will have run (B) hadrun

(C)  hasbeen running (D) runs

(E)  Question not attempted

75.  Choose the most appropriate option to convert
the following sentence from Direct Speech to
Indirect Speech :

Vineet said, “Let us watch a movie today.”

(A) Vineet suggested that they may watch a
movie that day.

(B)  Vineet suggested that they should watch a
movie that day.

(C©)  Vineet recommended they watch a movie
that day.

(D)  Vineet suggested they could go for a
movie today.

(E)  Question not attempted
76.  Choose the most appropriate option to translate
the given sentence from Hindi to English :
STRLT = WH Al b1 I AHE | A FT (547
(A) The rain completely destroyed all the
flowers.

(B) The rain has destroyed some of my
flowers.

(C) This rain will only stop after it has
destroyed all the flowers.

(D)  Ohno! The rain is ruining my flowers.

(E)  Question not attempted

3% 56HH
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77.

78.

79.

80.

Choose the most appropriate English word for
the Hindi word given below :

ettt

(A) Duplicate

(B)  Substitute

(©) Manuscript

(D)  Original

(E)  Question not attempted

Convert the following sentence given in Active
Voice to Passive Voice :

Where did she find this key ?

(A)  Where was this key found by her ?

(B)  The key was found somewhere by her.
(C) By whom was that key found there ?

(D)  She was the one to find the key ?

(E)  Question not attempted

Which of the following is the correct

transformation of the given Assertive Sentence
into a Negative Sentence ?

I am satisfied with the way things are
progressing.

(A) Things are not progressing and that
makes me dissatisfied.

(B) I am wunhappy that things are not
progressing.

(©) I am not satisfied and things are not
progressing.

(D) I am not satisfied with the way things are
progressing.

(E)  Question not attempted

Select the most suitable option to fill in the blank
in the following sentence :

I spent money I had.
(A) any little (B) little
(©) thefew (D) the little

(E)  Question not attempted



81.  HYY o 3T IXW HHIT T 450 M T 1,050 H TWIAST |
IO T 9% 16% ATH b AT AR gEL T 10%
BT o T AT | 3 I e H IUBT AT 3T
Tt wferera Fre Y|
(A) @™, 2.5% (B) =, 6%
© =, 22% (D) @™, 6%
(B)  3raRd e

82.  Tepdt o o1 HEHEHT frTeTiEd W A fepaeT aee
ZATE ?
(A) i oraT Fffa
(B) T ITATE
(©) 9w ferat=rT e
(D)  3FaR-T=H aikes
(B)  3raRd 9o

83.  uRrér ¥ facrarer S #igY fpq TR A aRISi MU ¥ ?
(A) THEEHWT  (B) ITES
© FATTRR (D) ST YR
(B) TIaRa ued

84.  Tmferiga sfietl # & i 2t o9 & Fad 39t
feem ¥ Rua g ?
T f3T 7T fosedt # A WY UG T BT LA
E
(A) Wi i (B)  fuetetr gite
(OEEEEskic) (D)  TrsteEE g
(B) TIaRa ued

85. IS TR IR MTAE TSTRATHT TR & -
= fow Ty fyhedt # ¥ wE 3T SR HT A
B
(A)  IFEREr
(B) ST wic
(©) AREETwTE
(D)  3™IRA
(B) 3TIaRa ueA

5 56HH 15

81.

82.

83.

84.

85.

Madhur bought two items for I 450 and I 1,050
respectively. He sold the first item with 16% profit
and the second item with 10% loss. Find his profit
or loss percentage in the whole transaction.

(A) Profit, 2.5% (B) Loss, 6%

(©) Loss, 2.2% (D) Profit, 6%

(E)  Question not attempted
The Chief Minister of a state is a member of which
of the following ?

A)  Public Accounts Committee

B)  State Selection Board

D Inter State Council

~

(
(
(C)  Election Commission of India
(
(

E)  Question not attempted

The Dilwara Jain Temples in Sirohi have been
carved out of :

(A)  White marble (B)
(©) Limestone (D)

Granite
Sandstone

(E)  Question not attempted

Among the following lakes, which one has the
northern-most location in the state ?

Choose the most appropriate answer from the
options provided below :

(A) Sambhar lake (B) Pichola lake

(©) Nakkilake (D) Rajsamand lake

(E)  Question not attempted

Rajasthani dress famous at the National level is :
Choose the most appropriate answer from the
options provided below :

(A) Angrakhi

(B)  Jodhpuri Coat

(©) Marwari Pagri

(D) Achkan

(E)  Question not attempted

P.T.O.



86.

87.

88.

frfetfaa srfwfsean wefieo (= - 1) &1 9%
IO ATARAT TR (YT - 2) F W =
BT
-1 Tt - 2
EiiEikuicay )] (STPATSReT 5
TPR)

(@) | C(s)+Oa(g) > @) | fa tawamm=
CO(g) arraferaT

®) | cacoye) —2s | () | T
CaO(s)+CO,(g) SRR

(c) | Pb(s)+CuCly(aq.) (iii) | Tqeeq
—PbCly(aq.) 3TRTTRaT
+Cu(s)

(d) | NaySOy(aq.)+BaCl, | (iv) | ferzermas
(aq.)—>BaSOy(s) T femaT
+2NaCl(aq.)

fag My foreedt & & &t A I -

(A)  (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(B)  (a)-(ii), (b)-(iv), (o)-(iii), (d)-(i)

©  (@)-(), (b)~(iv), (0)-(ii), (d)-(iii)

(D) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

(B) STIaRa ued

WRA B FTRTOET (2011) F AR, TSI F T
T (0-6 <) o7 T ?

(A) 888 (B) 980

(© 780 (D) 895

(B)  3rgana ued

A I SO (2011) F AR, 2001 H 2011 TH
TSI o T FSTel | STET | ST T TRad &7
LT Tarer 1feres T ?

(A) SR (B) argER

© sER (D) S

(B)  3rqaRa e

% 56HH 16

86.

87.

88.

Match the following reaction equations (given in
List-1) with their appropriate type of reaction
(given in List-2) :

List-1 List-2
(Reaction (Types of
Equations) Reaction)

(@) | C(s)+On(g) — (i) | Double
COH(g) Displacement

Reaction

(b) CaCOs(s) A (ii) Comb'matlon

Reaction
CaO(s)+COy(g)

(c) | Pb(s)+CuCly(aq.) (iii) | Decompo-
—PbCly(aq.)+ sition
Cu(s) Reaction

(d) | NapSOy(aq.)+BaCl, | (iv) | Displacement
(aq.)>BaSOy(s) Reaction
+2NaCl(aq.)

Choose the correct answer from the options
provided :

(A)  (a)-(ib), (b)-(ii), (c)-(iv), (d)-()
(B)  (a)-(ii), (b)-(iv), (¢)-(ii), (d)-(i)
©  @-(), (b)-(iv), (c)-(i), (d)-(iif)
(D) (a)-(iti), (b)-(ii), (c)-(iv), (d)-(0)
(E)  Question not attempted

According to the Census of India (2011), what was
the child sex-ratio (0-6 years) in Rajasthan ?

(A) 888 (B)
(C) 780 (D)

980
895
(E)  Question not attempted

According to the Census of India (2011), which
district of Rajasthan had the highest percentage of

decadal change in the population from 2001 to

20117
(A) Jodhpur (B) Barmer

(©)  Jaipur (D) Jaisalmer

(E)  Question not attempted



89. MS Word T8 TR &1 Giedar & ?
(A) Raeew |iweasX
(B) gfefete! Aivedar
© feaEEgER
(D)  TTAH AiFedaX
(B) TIaRa wed

90. T I ‘WA’ TEHT [ATETIRgd § ¥ 6T
QERT & AT AT ?
T foT 7T fosedt # A FEW UG ST BT LA
Y
(A) X (B) TSt
(©) Ut (D) ==eT
(B)  3raRd 99

91. S TEATT 2:3 & IU # & 3T 3BT LCM 216 |
T ST BT AT TS ?
(A) 180 (B) 216
© 30 (D) 36
(B)  3raRd e

92.  fqHfAREd & ¥ HIH-TT1 TSRAT! A6 T TIT B
s FATHR 319 T 9 g Tiad & 92 a1 el F
HTH T B &, IR T I8 T ATGATd g1
TR HA E ?
(A)  FEATA (B) wag
© =B D) i~
(B)  3raRd aed

93. TS & TAFTAREd W # ¥ FE Jd T
HATCTT T “Water Vision @ 2047 - Way Ahead”
TS U IMfEd WRAE TS WAl FHEH
3T o T o ?
(A) ST (B) 3T
© 3R (D)  SER
(B)  3raRd 99

2% 56HH 17

89.

90.

91.

92.

93.

MS Word is a type of :

(A) System software

(B)  Utility software

(C)  Device driver

(D)  Application software

(E)  Question not attempted

The musical instrument ‘Khadtal’ is typically made
using which of the following materials ?

Choose the most appropriate answer from the
options provided below :

(A) Strings (B) Wood

(©) Cloths (D) Leather

(E)  Question not attempted

Two numbers are in the ratio 2 : 3 and their LCM is
216. What is the sum of the numbers ?

(A) 180 (B) 216
(© 30 (D) 36
(E)  Question not attempted

Which of the following folk dance forms of

Rajasthan involves balancing multiple brass
pitchers or earthen pots on the dancer’s head, and is

performed by both men and women ?

(A) Terah Taali (B) Bhavai

(C)  Chakri (D) Gair

(E)  Question not attempted

In which of the following places of Rajasthan,

Ministry of Jal Shakti organized the 21d All India
State Minister’'s Conference on “Water Vision @
2047 - Way Ahead” ?

(A) Jaisalmer (B) Udaipur

(©)  Ajmer (D) Jaipur

(E)  Question not attempted

P.T.O.



9.

95.

96.

97.

98.

&7 st %%Z ¥ v ¥ ¥ o
TET TAT HIW SISt TEATH 37T 36 2| 2 aT § Ty

(Aa) 72 (B) 24
(C 60 (D) 54
(B)  3rqaRa e

MS Excel ¥ Tigsfic &I fehice Tace™ T 2t
g7?

(A) .text (B) .csv
(©) .docx (D)  xlIsx
(B)  3rgana ued

P ARTILT TTLROT TS IR 3 T 7 T B 60% T
STt 81 ¥ 12,250 9 2 99 | SHY ST & H ThgiE
STST T & 2

(A) 4,900 (B) T8918
(©) 8820 (D) 5,39
(B) TIaRa ued

g #§ ¥ w9y srus srtafmmeita o
FAAE 2

(A) TR (K) (B)  FWAIRTEH (Mg)
(©) €T (Pb) (D) 9T (Hg)
(B)  3raRd e

T 60,000 T LT & T & TTT 4% BT I H 3T
Y & {77 5% T 3T T Tehgig AT I IUW ot TS

S Y & 37d H 3T THYIG AL

(A) 5820 (B) ¥5,420
€ 5520 (D) 6,220
(B) rIaRa wed

% 56HH 18

9.

95.

96.

97.

98.

2 1 3
Three numbers are in the ratio —: — : —
3 2 4

difference between the greatest and the smallest of
these numbers is 36. The smallest of the three

. The

numbers is :
A 72 (B) 24
© 60 (D) 54

(E)  Question not attempted

The default extension of a spreadsheet in MS Excel
is:

(A) .text (B) .csv

(€ .docx (D)

xlsx

(E)  Question not attempted

A sum of money increases by 60% of itself in
3 years on simple interest. What will be the
compound interest on< 12,250 in 2 years at the same
rate of interest ?

(A) T 4,900 (B)
© 8820 (D)

3 8,918
< 5,390

(E)  Question not attempted

Which among the following is the most reactive
metal ?

(A) Potassium (K) (B) Magnesium (Mg)

(C©) Lead (Pb) (D) Mercury (Hg)

(E)  Question not attempted

A sum of ¥ 60,000 is borrowed on compound
interest at the rate of 4% p.a. for the first year and
5% p.a. for the second year. The compound interest
payable at the end of two years is :

(A) 5,820 (B) 5420

(C) 5520 (D) 6,220

(E)  Question not attempted



99.

100.

101.

102.

103.

frrfeiaa & @ fpser ST, getme W Rt
ST Bt T wg= & fery fopar s ?

(A) e (B) S ATH

© smEgdTgH D) FIRTA

(B) 31 aRd A

AT Rad # ¥ i A A T 7S B TETTF AT
e ?

(A)  SmER

© @t

(B) rIaRa wed

TR § AT Tl Ud @ usRl ot

IBRIER] T I B AT
A) TE (B) e
(D) I

(
©) T
(B)  3rgana ued

frfetiEd o 3 #1991 A-URa Serary aRkady
T T8y TROTH &N E ?

= fT Y feebedt W | S SUYTR IR BT LA
B

(A) 39T THE-TR A gig

(B)  wATTerat % foreTed &I+ T ST & &1

© wual # Fle FHEAU F AT T TS
TAGAMNAT HT SEH

(D) et 3R g it 3ngia # gig

(B) STIaRa ued

T 1911 H TSRAT # Y TR ST 3 H{GT BT GATTATOT

frfeiaa o 9 feea T o ?

A)  HERSTHHE e

—~

(B) HeRTSI HaTs 5 fag
O wermwT 3T Re
(D)  HERTS T RE

(B)  3rqaRa e

% 56HH 19

99.

100.

101.

102.

103.

Which of the following is used to uniquely identify
a computer on the internet ?

(A)
©
(E)

Host Domain Name

(B)

IP Address (D) URL

Question not attempted

Which of the following rivers is not a tributary of
Banas River ?

(A) Kothari
©

(E)

Jakham (B)

Khari (D) Berach

Question not attempted

In Rajasthan, the Chief Medical and Health Officer

is appointed at the level.
(A) Block (B) District
(C) Revenue Village (D) State

(E)  Question not attempted

Which of the following is not a direct consequence
of human-induced climate change ?

Choose the most appropriate answer from the
options provided below :

(A) Rise in mean sea-level

(B)  Decreased risk of species extinction

(C) Increased risk of crop susceptibility to pest
infestation

(D) Increased frequency of heatwaves and

droughts
(E)

Question not attempted

Who among the following reconstructed the temple
of Shri Goga Ji in the year 1911 in Rajasthan ?

(A) Maharaja Man Singh

(B) Maharaja Sawai Jai Singh
(©) Maharaja Umed Singh
(D
(

~

Maharaja Ganga Singh

E)  Question not attempted

P.T.O.



104.

105.

106.

107.

108.

TRt =T 7 75%, 75 H SIS+ U¥ TR IEr T
AT | TR HEATE

(A) 300 (B) 260
© 280 (D) 316
(B)  3rqaRa wed

fAfaiEad § ¥ WRA BT TEAT FAA- A Hq
B TTE ?

(A) sitEgag(be) (B) o aq (o)
(©) e &g (frsr) (D) e &q (fr)
(B) 31 aRd e

et B9 A faesiaa T TG &1 BTaR-Ug-hiue
TEt-3ep ge THeA FTAM AT R ?

(A) AWTTAF2 (B) STHITTH® 2
(© 3w (D) 3MATAH?2

(B)  3rgana ued

T T TSI T F AAARYS Bl (T et
TATE TR FIATE ?

(A)  I=T I 6 T AT

(B) &SIy g WAL

€ T BT

(D)  F=TT

(B)  3rgaia usd

TSTET H IS Wad Uiy el Ruq g ?

(A) ST (B) Teiigie
© SR (D) T AT
(B)  3raRd e

% 56HH 20

104.

105.

106.

107.

108.

Upon adding 75% of a number to 75, the result is the
number itself. The number is :
(A)

300 260

(B)

(C) 280 (D) 316

(E)

Question not attempted

Which of the following is India’s First Cable-Stayed
rail bridge ?

(A) Anji Khad Bridge (B) Chenab Bridge
©

(E)

Bogibeel Bridge (D) Pamban Bridge

Question not attempted

What is the name of the indigenously developed
third generation Anti-Tank, Fire-and-Forget guided
missile ?

(A) NagMk2 Akash Mk 2

(B)

(©) Amogha (D) AgniMk?2

(E)

Question not attempted

The Governor of a state appoints the Council of
Ministers of that state on the advice of the :

(A)  Chief Justice of High Court
(B)  Union Home Minister

(C)  District Collector

(D)  Chief Minister

Question not attempted

Where in Rajasthan is the Umaid Bhawan Palace
situated ?

(A)  Jodhpur (B)

(D)

Chittorgarh
©

(E)

Udaipur Sawai Madhopur

Question not attempted



109.

110.

111.

112.

113.

A 3T B AT T 84,000 317 T 80,000 FHT FraIer H3eh
TR & [FaT| IR #EH 918, B 7 % 12,000 HT 3T
Taer fopam| 38 9979 C, T 96,000 T AT HIH
IR H T TAT| TR 6 F & TH a9 91 &
T AT H A, B 3 C & AT H T AT
ZTT ?

(A) 21:23:24 (B) 21:20:16
Q 21:22:16 (D) 21:20:24
(B)  3rqaRa e

TR FI A ASHT BT A TATY, T 7 1947
T TEATATE 3T I & ST &S U B ot |

(A) AT (B) weHIaTE
©€) EREE (D)  wTeitaTg
(B)  3aRd e

TSR F 6T T BT BF 2025 F Hfad 3T
131817 & &1 § 37 AT & fTT ot ot & AR
[ERIEID I

(A)  WIE AT FFER
(B)  ISTATY HERTST
©) A

(D) st B e
(B)  3raRd e

TISTEATA # FGT UG T T AT & | ST T8707
% Ul H, T Rad | J [hasT e 3 a9t

T & (T UG 371 ) -

(A)  wgiEm T

(B) A IATHT & ITTNT | A
© Trifa =g

(D) T IdT

(B)  3raRd e

ITHIA TTeTeR g HeiRTa feat fthew ““agett’” fopesp
S Toredt 778 o7 Hart < “gharen’” uX menia & ?

(A)  wereg faart (B) e fasror
© fiRsT e (D) fastoeT g
(B)  3rqaRa e

% 56HH 21

109.

110.

111.

112.

113.

A and B started a business by investing I 84,000 and
% 80,000 respectively. After 4 months, B made an
additional investment of ¥ 12,000. At the same time,
C joined the business with investment of
% 96,000. What will be the ratio in the shares of profit
of A, B and C in the profit made at the end of one
year from starting the business ?

(A) 21:23:24 (B) 21:20:16
(C) 21:22:16 (D) 21:20:24
(E)  Question not attempted

Name the Bhil girl of Dungarpur, who attained
martyrdom during the Rastapal Agitation, in June
1947.

(A) Motibai (B) Laxmibai
(C) Hirabai (D) Kalibai
(E)  Question not attempted

Which of the following renowned poet from
Rajasthan, received the Padma Shri in 2025 for his
work in Literature and Education field ?

(A) Mohan Lal Kumhar

(B)  Baijnath Maharaj

(C©) Begum Batool

(D)  Sheen Kaaf Nizam

(E)  Question not attempted

Soil erosion is a major challenge in Rajasthan. Soil
conservation efforts include all of the following,
except (choose the most appropriate answer) :

(A) Strip cropping

(B)  Increased use of chemical fertilizers
(C) Regulated grazing

(D)  Crop rotation

(

E)  Question not attempted

The Hindi Film “Paheli” directed by Amol Palekar,
is based on the short story “Duvidha” written by :

(A) Malchand Tiwari (B) Suryamal Misran
(C) Girija Vyas (D) Vijaydan Detha
(E)  Question not attempted

P.T.O.



114.

115.

116.

“Te IRIT TR’ URASHT Bl TATRAE F
TR # o o SR &4 o S Iect 37® o
T T ?

(A)  FHaATRT I TSI IATH
(B)  HRHA TSI IR
(©)  TOTHIY I e

(D) 3 AAAA UTH

(B)  rIaRa wed

T & TIH g5 # JHERG-I A 6 ot
fepar ?

(A)  HE=E IR
(B)  HEHHG HIAH
© 3 R
(D) HegHg Tt
(B) SrIaRa ued

ST 7T UTE-ATE HT AT eI HY 3T T HT
I

A=t T T T S BE AT el § oW
TeRTH BT T AT BT WTeTe Fere=or giar & |

THT THAT H F THATHT T HHT = 8400 |

IS Thel F H T 1 BT TEAT1820 B, A Thel F BT
HieeT A6, Tl B F FT TBW Tbrt ¥ foper
afaera HAE ?

(A)  66.66% (B)  81.66%
Q)  89% (D)  75%
(B)  3rfand ued

% 56HH 22

114.

115.

116.

Project “Great Indian Bustard” was first launched in
which
Rajasthan ?

of the following protected areas of

(A) Keoladeo Ghana National Park
(B)  Sorsan Wildlife Sanctuary

(©) Ranthambore National Park
(D) Desert National Park

(E)  Question not attempted

Whom did Prithviraj-III defeat in the First Battle of
Tarain ?

(A) Muhammad Ghori

(B) Muhammad Qasim

(C) Shah Alam

(D) Mahmud Ghazni

(E)  Question not attempted

Study the following Pie Chart carefully and answer
the question :

The Pie Chart given below shows the percentage
distribution of the total number of male faculties in
six different schools.

Total male faculties in all schools together = 8400

If the total number of faculties in school F is 1820,
then female faculties in school F are what

percentage less than total male faculties in school
B?

(A) 66.66% (B) 81.66%
< 89% (D) 75%
(E)  Question not attempted



117.  Fr=ciad § § $IF §T & (Cholera) F THR HT|117.
T THeR e & ?
(A) e BT
(B) gt T+t BT T
(©) zarH HiE fagHoT & Areas |
(D)  WehtHd wrferT & Fe Tueb § 37T
(B)  3rqaRa e
118. TS Tociarst o 19T 1897 IR # 92 T =TT Toreay | 118.
ITET 3T 1.5 TT 9 TAT| 189 URT & 915 IHBT
AT TR ?
(A) 665 (B) 74
(C) 905 (D) 65
(B)  3raRd 9o
119. T WIPR & MIST e, HERdT U9 AR [119.
I 9T 7 AT Fal RUA § ?
(A)  SETET (B) 3WER
©) SR (D) IR
(B) 31 aRd A
120. A 37 B et feelt @ &1 120 fom & FT wpa &; B[ 120.
3R C Tt S B BT 90 fo A FT Thd &; TATE
AT C T IW 2 A FTTsa 21 afg A, B 3
C AT B &Y, T o B 157 H 30 B Bl HT
Thd & ?
1
(A) 56~ (B) 60
(C) 47 (D) 66
(B)  3rqaRa wed
-00o0-
5 56HH 23

Which among the following is a primary mode of
transmission for Cholera ?

(A) Mosquito bite

(B) Consumption of contaminated water
(C©)  Airborne droplets

(D)  Direct contact with infected person

(E)

Question not attempted

A batsman in his 18th innings makes 92 runs thereby
increasing his average by 1.5 runs. What is his
average after the 18t innings ?

(A)
©
(E)

66.5 (B) 74
90.5 (D) 65

Question not attempted

The head office of the Disaster Management, Relief
and Civil Defence Department of the Rajasthan
Government is located in :

(A)

Jaisalmer (B) Ajmer

©
(E)

Jodhpur (D) Jaipur

Question not attempted

A and B together can do a work in 120 days; B and
C together can do it in 90 days; whereas A and C
together can do it in 72 days. If A, B and C work
together, then in how many days can they do the

work ?

1
(A) 565 (B) 60
<) 47 (D) 66

Question not attempted

P.T.O.
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